
Conversion Hexadécimal en Octal (H)

Ecrivez chaque nombre dans le système de numération de base indiqué.

1. Hexadécimal = 8

Octal =

2. Hexadécimal = 11

Octal =

3. Hexadécimal = 3B0

Octal =

4. Hexadécimal = AC

Octal =

5. Hexadécimal = 7E

Octal =

6. Hexadécimal = 77

Octal =

7. Hexadécimal = D6

Octal =

8. Hexadécimal = 153

Octal =

9. Hexadécimal = 2334

Octal =

10. Hexadécimal = 9B6

Octal =
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Conversion Hexadécimal en Octal (H) Réponses

Ecrivez chaque nombre dans le système de numération de base indiqué.

1. Hexadécimal = 8

Octal = 10

2. Hexadécimal = 11

Octal = 21

3. Hexadécimal = 3B0

Octal = 1660

4. Hexadécimal = AC

Octal = 254

5. Hexadécimal = 7E

Octal = 176

6. Hexadécimal = 77

Octal = 167

7. Hexadécimal = D6

Octal = 326

8. Hexadécimal = 153

Octal = 523

9. Hexadécimal = 2334

Octal = 21464

10. Hexadécimal = 9B6

Octal = 4666
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